
FDR = 2.42e−16    β = 0.008

−2

−1

0

20 30 40 50 60 70
Age

Lo
g 1

0 (
T

P
M

 +
 0

.0
1)

Tissue
NSE
SE

LHFPL4



FDR = 1.94e−12    β = 0.008
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FDR = 4.51e−12    β = 0.009
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FDR = 2.27e−11    β = 0.009
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FDR = 1.75e−08    β = 0.008
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FDR = 5.49e−08    β = 0.012
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FDR = 7.49e−08    β = 0.01
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FDR = 1.92e−07    β = 0.009
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FDR = 5.18e−07    β = 0.01
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FDR = 6.68e−07    β = 0.009
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FDR = 4.32e−06    β = 0.009
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FDR = 2.93e−05    β = 0.01
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FDR = 0.000218    β = 0.009
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FDR = 0.000223    β = 0.011
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FDR = 0.0015    β = 0.008
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FDR = 0.00186    β = − 0.013
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FDR = 0.00418    β = − 0.013
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FDR = 0.00467    β = − 0.014
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FDR = 0.00481    β = − 0.013
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FDR = 0.00572    β = − 0.013
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FDR = 0.00843    β = − 0.013
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FDR = 0.00944    β = − 0.014
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FDR = 0.0101    β = − 0.013
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FDR = 0.0109    β = − 0.014
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FDR = 0.0125    β = − 0.012
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FDR = 0.0138    β = − 0.013
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FDR = 0.0149    β = − 0.014
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FDR = 0.0163    β = − 0.013
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FDR = 0.0169    β = − 0.012
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FDR = 0.0209    β = − 0.013
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